0-389

0000000000000 @DO210090)

o
1)
0.5sec 0.75 1.0 1.5sec
-1 -1 -2 -3
0.0025m
4730kN 8000
= 6000 =
Z |
T
@ 4000
_4 _5 _6 2000 - P (kN) 5587 6391 6391
Py o . S (m)| 0.0342| 0.0391] 0.3281
o
[0 *8' * 50002200 ° 0 0‘,1 o.‘2 013 0.4
o 5(m)
A I c B 2
8 s
v R
i :
F=a P
—1 a=0 15
1 00.0025m
N kB B 025
0.4Py 0. 00750 3
1.0Py
105-8584 30 5 TEL 03-3578-7930

-777-



0-389 000006400 0000D0O@MO?21090)
E 700
£
5 600 \ & T=0.75sec| |
0.4 10Py 500 -~ T=1.0 sec ||
\ —=-T=15 sec
6 400
300 '\&\
200
100 b&hh*hsm._
0 ‘ . e . o
000 020 040 060 080 100 120 140 160
o
—4
< 8000
—7 1.0pPy & 7000
6000
5000
4000 -4~ T=0.75sec]
3000 el --T=1.0 sec ||
2000 -=-T=15 sec
1000
0 ‘ ‘ ‘ ‘ ‘ ‘ ‘
000 020 040 060 08 100 120 140 160
o
-5
+10 +20
5,350
3.00 —--T=0.75sec[—]
--T=10sec| |
250 | - T=15 sec
200 N l
—8 -9 —6 150 i PR
1.00
0.2 Py 050
0.00 ‘ ‘ ‘ ‘ ‘ ‘ ‘
000 020 040 060 08 100 120 140 160
o
—6
0.2
455
Py
__450
[s]
[<F
o
=
445
4.40 ‘ ‘ ‘ ‘ ‘
040 060 080 100 120 140 160
o
-7
025 —
20 —&—+20%
g i i T - +10%
: A = -10%
0.10 /M/ \‘\‘ e -20% ]
005 I\ ma] 2o 0an
000 § ‘ ‘ . S .
-0.050. “\ 60
-0.10
_O 15 i \—A /
-0.20
-0.25
o
—8 (T=0.75sec)
025
0.20 “a 200
015 A co+10%L
010 £ > B
See e 1 20
0.05
XS
Py 0.00 % L . . o, . 0 g .
~0.050. 0, ‘n.'))t 040 060 80 00 120 140 160
-0.10 N "
015 W e
-020
-0.25
o
-9 (T=1.0sec)
() 2006.5

-778-



